
Question
Dear Professor Pfeifer,

I have a question regarding the timing convention in Dynare. I have the following equations:
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Bt is the long-term debt. Equation (1) says that the impatient household enters with (1−m)(1−
γ)Bt−1 long term debt. In t, impatient household borrows Lt from the banks and at the end of the
period, household’s debt is Bt.

Equation (2) is loan-to-value constraint. ϕt is time varying LTV constraint, ξt is the exogenous
shock, Qh

t is the house price in t, hIt ∗ is the new housing investment in t.

Equation (3) says that household enters in twith (1−m)hIt−1 housing stock, makes new housing
purchases -hIt ∗ and at the end of t, housing stock is hIt .

In the equation (4), ω∗
t is the default threshold, which is derived from solving impatient house-

hold’s problem.
My question is how should I write this 4 equations in the Dynare to be consistent with the

Dynare timing convention?
I wrote these 4 equations in the Dynare in the following way
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omegastar =
B(−1)

π ∗Qh ∗ hI(−1)
(8)

Is this correct? The problem is that Dynare gives me an error. I could not solve this problem

Figure 1

Thank you very much for your help.
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